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Java KREEER

import java.util.Scanner;

class web {
public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int age;

HITAER

age = sc.nextint();
System.out.printin(lage > 20});

}
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Import java.util.Scanner;

class web {

int age;

age = sc.nextint();
System.out.printin(age >
System.out.printf(
System.out.printf(

0

public static void main(String[] args) {
Scanner sc = new Scanner(System.in);

20);
, (age > 20));
, (age > 20));
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HAMERIBIEE : True & False
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(Comparison Operators)
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class web{
public static void main(String[] args) {
int age = 20;

System.out.printin(age == 20);
System.out.printin(age != 20);
System.out.printin(age < 20);
System.out.println(age <= 20);
System.out.printin(age > 20);
System.out.println(age >= 20);

} — o
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class web({
public static void main(String[] args) {
int age, weight;

age = 30;

weight = 40;

System.out.printin(age > 20 && weight < 50);
age = 10;

weight = 40;

System.out.printin(age > 20 && weight < 50);
age = 30;

weight = 60;

System.out.printin(age > 20 && weight < 50);
age = 10;

weight = 60;

System.out.printin(age > 20 && weight < 50);
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class web({
public static void main(String[] args) { g
int age, weight; /\ﬁﬁ 'ﬂiﬁ-’& ’—I_’f__l'
BmEE ture -
age = 30; aBx nBﬂ%Ui%BK 1~
weight = 40; 57 & =false

System.out.println(age > 20 | | weight < 50);
age = 10;

System.out.println(age > 20 | | weight < 50);

age = 30;

weight = 60;

System.out.println(age > 20 | | weight < 50);

age = 10;

weight = 60;

System.out.println(age > 20 | | weight <50); —o
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ass web{

blic static void main(String[] args) { . = =
puintca;tea’tvseicg)ht;mam tring[] args ! . KIE true E/\]Z—ZE true

age = 30;

weight = 40; e .

System.out.printin( ); | MR RAZ true B AL,

System.out.printin(age > 20 && weight < 50); , v D3t

System.out.printIn(!(age > 20 && weight < 50)); . ]:il ;enn JJ:I:EI‘E'{—J/E? ﬂ:&Z/I\ . I:IK

System.out.printin( ); *ﬂ?ﬁ%% Aff EE_E\ZE%H = E/‘J /T\Q?IL/ N

§Ystem.ou:.prin::nz?(ge > 2% || \lNEig'hth: 5(;)6 ) = == HDJI ! gﬁ |':|:'| IR
ystem.out.printin(!(age > weight < ; welght:

age = 10; = *HﬁE/\JI%E

weight = 40;

System.out.printin
System.out.printin
System.out.printin
System.out.printin
System.out.printin
System.out.printin
age = 10;

) : weight:

age > 20 && weight < 50);
l(age > 20 && weight < 50));
);
age > 20 | | weight < 50);
l(age > 20 || weight < 50));

weight:
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weight = 60; : weight:

System.out.printin( );

System.out.printin(age > 20 && weight < 50);

System.out.printIn(!(age > 20 && weight < 50)); : weight:

System.out.printin( ); — 0

System.out.printin(age > 20 | | weight < 50);

System.out.printin(!(age > 20 | | weight < 50)); 4 18di :J weight:
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2 &2 f(Logical Operators)
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3>5&&5 < 10| False
&& RIEMEE ERS A = True 3<58&&5<10|True
3>5&&5 > 10| False

3>5|15<10] True

” U'féﬁﬁ%/\ﬁ_rfe 'ﬂEI’T_J'IZI e 3<5(5< 10

True

3>5]|5>10|False
I(3>5&&5 <10) | True
! BENREATESEIZE True I(3 < 5&&5 < 10) | False
(3 > 5 &&5 > 10) | True
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S EEH F (Arithmetic Operators) +.-.% / %
EIKESEF (Assignment Operators) +=,-=,%=,/=, %=
LEEGEHE F (Comparison Operators) == l=,<,<=,>,>=
#5878 S 1 (Logical Operators) &&,|,!




